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Note: This qr:estion paper contains two parts A and B.
Part A is conrpulsory 

"vhich 
carries 25 marks. Ansu,er all questions in Par1A.

Part B consists of 5 Units. Ansu,'er any one full question fron'i each unit.
Each qr-restion carr,ies l0 marks and,ma1, have a, b, c as sub questions.

PART- A
(25 Marks)

l.a) Give the advantages and disadvantages of tie-set rratrix. l;,21

b) Write the expression for total inductance of the tlrree series connectecl coupled
coils connecled betu'eert A and B as show'n in circuit shor.ln in figure l. t3]

c)
d)',

e)

0

l-r t_: tr.,

Figure: I
What are tl-re advantages of poly phase system over single phase s;,stem? l2lrExplain the effect of porveri,,,factor on rvattrneter readings in trvo rl,attrneter
rnelhod. 13 I

Explain why the current in inductance does not change in zero time. l2l
Write a shofl note on the procedure employed to evaluate initial conditions.

g) Define active and passive ports.
h) Express Z-parameters in terms of ABCD parameters.
i) List out the disadvantages of oonstant - k filters,
j) Sketch the frequeney,.response.ofhigh,pass filters.r
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PART-B
(50 Marl<s)

2. Determine voltage V across a l5 olrms resistor in the magnetically coupled circLrit
shown in Figure 2.Take Vs:30240 degrees. [10]

Figure: 2
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-). I or tlre gralth shtrri n in Figirrc l. l r.it,r

\ ()ltlrgc in tc'lt.ts ol- r.rr-idc r oltages lltri llre n

currcnts in ternts o1' loop currents.
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Derive the relation betu,een line and phasc voltages and currents for a balancecl
STAR connected systern.
'lhe trvo watt lneter readings in a 3-phase po\\,er rreasLlrement are 8 K\\'..rhe
latter reading is being obtairred after the reversal of current coil. CalcLrlate the
total porver. Active Pou'er. Reactive po\\er and power factor of the load. i5r 5]

OR
,{ three phase balanced de lta connectecl lo:rtl of (9-.ll) trhnt is connecteci across a
-100V" 3n balanced suppll. Determine tire phase cLlrrcnts and Iine cLrrrents.
Assunre the phase of seqtrence to be IIYB. Also calculate the porvcr dra*,n bv
load. tr 0l

with the switch open steadl,state is reached rvith V:100 sin 314 t volts. The
,srvitch is closed at t=0. The.sircuit is allou'ed to come to steady state agairr.
Deterrnine steadl state currertt and cornplete solutiorr of tlarisient crrirerrt
(figure 4). tl 0l
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Figure: 4
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Obtain tlre expression lor i(t) t'or a series RL circuit rvhen exited
V(t)=Vm sirr (rvt+0) using Laplace transform.

Find,the Y-parameters for the'circuil shou rr in figure 5.

Figure: 5
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9. l-he Z-paranrctcrs rrl'a t\\'o- Ilort net\\ orli arc 1 ,1, l5L) 1.,.: /.: (ro lld 2...',).lt)
l)eternrine ,\Ll( t) llurar'Iteters. I l0l

10. Design a lrarlcl pass filter r'ith cutofl- licc[rcne ies of ]0001{z ancl ,5000t12 riith a

ll.

design irnpedance of'500 ohrns.

oR.
Design a rn-derived Iori, filter rvith a design irnpedance of 300e and
frequerrcy at2I{Hz and infinite attenuation at2345llz,.

:--(}0000---

I I(.)I

the cut of l'

ll0l


